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1p 5 What does paragraph 3 make clear? 
The programming of self-driving cars 
A has become arrested in its development. 
B is unlikely to lead to legal arguments. 
C may present unsolvable moral dilemmas. 
D might result in a decrease in traffic accidents. 

1p 6 Which of the following fits the gap in paragraph 4? 
A human direction 
B legal guidelines 
C major traffic delays 
D safety precautions  
E strong competition 

Tekst 4  Puns get on everyone’s nerves 

1p 7 Which of the following fits the gap in paragraph 1?  
A divided over 
B paralysed by 
C resistant to 
D unprepared for 
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De volgende drie alinea’s kwamen oorspronkelijk na alinea 1, maar zijn uit 
de tekst weggehaald (zie stippellijntjes in de tekst). 

a The study jibes with previous observations that brain injuries to the 
right hemisphere can be associated with humor deficits in some 
people who understand a joke’s meaning but “don’t think things are 
funny anymore,” Buchanan says. She hopes this and future studies 
may lead to rehabilitative training to help such individuals get back 
their sense of humor. 

b This interaction enables us to “get” the joke because puns, as a form 
of word play, complete humor’s basic formula: “expectation plus 
incongruity equals laughter”. Buchanan has found that in puns, where 
words have multiple, ambiguous meanings, the sentence context 
primes us to interpret a word in a specific way, an operation that 
occurs in the left hemisphere. Humor emerges when the right 
hemisphere subsequently clues us in to the word’s other, 
unanticipated meaning, triggering what this study classifies a “surprise 
reinterpretation.” 

c To observe how the brain handles this type of humor, researchers at 
the University of Windsor in Ontario presented study participants with 
a word relating to a pun in either the left or right visual field (which 
corresponds to the right or left brain hemisphere, respectively). They 
then analyzed a subject’s reaction time in each situation to determine 
which hemisphere was dominant. “The left hemisphere is the linguistic 
hemisphere, so it’s the one that processes most of the language 
aspects of the pun, with the right hemisphere kicking in a bit later” to 
reveal the word’s dual meanings, explains Lori Buchanan, a 
psychology professor and co-author of the study. 

1p 8 In welke volgorde stonden bovenstaande alinea’s in de tekst? 
Zet de letters in de juiste volgorde. 

Tekst 5  You may like this book  

1p 9 Which of the following fits the gap in paragraph 1? 
A abysmal 
B elusive 
C exclusive 
D neglected 
E uninteresting 


